
Урок математики 





Формула работы

A=ʋ·t

ʋ = A:t t =A:ʋ





a)

A ʋ t
I
II

60 стр.  5 ч

63 стр.  7 ч

     ?

    ?

12 

 9

Ответ: у первой машинистки на 3 стр. в час



б)

A ʋ t
I
II

1926 к.  6 д.

    ?  365 д

     ?

    ?

321 к. 

 321 к.

Ответ: 117165 костюмов за год.

117165 к.





в)

A ʋ t
I
II

18 м

 18 м

  7 ч

 19 ч     ?

    ?

342 м 

 126 м

Ответ: 126 м  и  342 м.



г)

A ʋ t
I
II

8 

     9

360 стр.

 360 стр.

     ?

    ?

45 д. 

 40 д.

Ответ: первый, на 5 дней раньше.



Домашнее задание

стр. 47 № 7, стр. 48 № 13.


